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Which of the follow

 

ing is always true

Given the statements :

     a .b 0

     b .c 0

A) a.b 0 B) a.c 0 C) b 0              

              D) b.c 0 E) a .c 0      

?
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Given that

 

 

 

What are the signs of a,  b,  and c,  respectiv

      a.b 0

      b

l

.c 0

      a .c 0

A) , , B) , , C) , ,            

                  D) , , E) , ,         
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Given that,

            a 0 b c

A) (a b).(b c) B) (a b).(b c)

C) (a c)(a c) D) (a c).c                        

                           E) (a c).b

which of the following is definitely positive?
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which of the following is definit

 

ely true for a,  b,       

and c?

If a is a positive

v

 number,  then b is negative.

I

0

i

f  a is 

 

a ne

 

gat

 

iv

c

e

 

 

 

n

t

u

h

m

 

b

A

eB r ,

0

 

b

t

a

h

 

e

 

n

 

 

b

c

 

 

 

i

a

s

n

 ) po

e t ,

 

)

sit

   

)

C  

ive.

 

 

.

oth a and b are definitely positive numbers.

c is definitely a positive number.

If  b is a negative number,  t

 

hen c is 
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5) 

Given that,

       a 0 b c 

a b a c a b
A) B) C)             

b c a c c
a b b c

              D) E)               

Which of the followi i

b

ng s definitely a

c a

neg tive?
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ANSWER KEY 

1 E 

2 C 

3 A 

4 B 

5 D 

 


